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Q.No.1
Following statements are followed by four options. Only one choice is closest in meaning to the

underlined words in the statement. 10

(1)  The mother admonished her severely.

(A) Forewarned (B) Gifted (C) Asked (D) Praised
(2) Iam not unmindful.

(A) Attentive (B) Fearful (C) Woeful (D) Negligent
(3) Atnight, he consulted his wife.

(A) Called (B) Asked counsel  (C) Advised (D) Requested
(4) The man peers out the glass.

(A) Gazes (B) Breaks (C) Lifts (D) Throws
(5) It’s going to hit the house.

(A) Collide (B) Pass (C) Smooth (D) Revolve
(6) Tam to give up in despair and go home.

(A) Happiness (B) Bliss (C) Misery (D) Gravity
(7) A time to cast away stones.

(A) Pull (B) Push (C) Break (D) Throw away
(8) Through love stake becomes a throne.

(A) Pool (B) Garden (C) Hill (D) Gallows
(9) This is the cleanest patch I’ve ever seen.

(A) Piece of land  (B) Garden (C) Bazar (D) Hotel
(10) Mr. Hubert choked with indignation.

(A) Pleased (B) Laughed (C) Annoyed (D) Excited

Each question statement has four options. Only one choice is correct. 5
(11) The slave had never at:- (A) Work (B) Ocean (C) Sea (D) River
(12) What was the boy giving to the street Arab? (A) Pudding (B) Bread (C) Rice (D) Bovril
(13) What does the girl take from her car? (A) Pistol (B) Knife (C)Rod (D) Flash light
(14) What is his wife doing? (A) Talking (B) Knitting (C) Dancing (D) Making tea
(15) Who disagreed with Jorkens? (A) Hubert  (B) Terbut  (C) John (D) Gorgios

Choose the correct form of verb and fill up the bubbles. 5

(16) He  alecture yesterday. (A)delivered (B) were delivered (C) delivers (D) deliver
17) It cloudy tomorrow. (A)is (B) shall (C)willbe (D) was
(18) We ought to our elders. (A) obey (B) obeyed  (C) have obey (D) obeying
(19) When he had come,I  aletter.

(A) am writing (B) was writing (C) write (D) have writing
(20) He  sadtoday. (A) looking  (B) looked (C) looks (D) is look
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